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< 2,045,500 912,470 1,133,030
Al 5,387,500 3,205,530 2,181,970
SAHARS(sZEHY)(SUsA) 7,361,832 4,077,785 3,284,047
< 2,045,500 912,470 1,133,030
Al 5,316,332 3,165,315 2,151,017
DNSANHME 2 (NS ARAEEH) 7,361,832 4,077,785 3,284,047
< 2,045,500 912,470 1,133,030
Al 5,316,332 3,165,315 2,151,017
StNgARRNE 28 (sEF ) 2,093,832 1,721,165 372,667
101 @124l 103,403 94,016 9,387
03 B2 (RIAHA)2Z2NHE > 103,403 94,016 9,387
StNZAXENH 3R 22X (2Y) 103,403 94,016 9,387
- SAFIL 3,129,000 38«14 9,387 0 9,387
201 et 492,568 492,568 0
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HEL M S 0 3,540 A 3,540
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307 glztol & 206,391 100,000 106,391
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< 9,900 9,900 0
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Al 97,000 42,884 54,116
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= 1,368 1,068 300
Al 2,052 1,602 450
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3,420,00024 3,420 2,670 750
< 1,368 1,068 300
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Ol bl (334K MIE ) 71,168 40,215 30,953
ol Bl Bl 71,168 40,215 30,953
801 0l HI bl 71,168 40,215 30,953
01 2 8ol bl bl 71,168 40,215 30,953

ol gl gl 70,963,000& +205,000& 71,168 40,215 30,953




